
Graniqne vrednosti funkcija

lim
x→0

sinx

x
= 11.

a) lim
x→0

1− cosx

x2
; b) lim

x→0

tg x− sinx

x3
; v) lim

x→0

tg x

x
; g) lim

x→0

arcsinx

x
.

lim
x→0

ln(1 + x)

x
= 12.

a) lim
x→0

ln(1 + sinx)

tg 2x
; b) lim

x→0

ln(cosx)

x2
; v) lim

x→0

ln(cos ax)

ln(cos bx)
.

lim
x→0

(1 + x)α − 1

x
= α3.

a) lim
x→1

xm − 1

xn − 1
; b) lim

x→−∞

√
x2 + a2 + x√
x2 + b2 + x

.

lim
x→0

(
1 +

1

x

)x

= e lim
x→0

(1 + x)
1
x = e4.

a) lim
x→0

(1 + tg x)ctg x; b) lim
x→+∞

(
x+ a

x− a

)x

.

lim
x→0

ax − 1

x
= ln a lim

x→0

ex − 1

x
= 15.

a) lim
x→0

eax − ebx

x
; b) lim

x→0

ax+1 + bx+1 + cx+1 − a− b− c

x
.

6.

a) lim
x→−2

tg πx

x− 2
;

b) lim
x→1

x4 − 1

x− 1
;

v) lim
x→0

sin 5x− sin 3x

sinx
;

g) lim
x→−∞

(
√
1 + x+ x2 −

√
1− x+ x2);

d) lim
x→+∞

ln(1 + 5x)

ln(1 + 7x)
;

�) lim
x→π

√
1− tg x−

√
1 + tg x

sin 2x
;

e) lim
x→+∞

1

x
ln

√
1 + x

1− x
.


